20248d %= 2

817] 243} (2)8hd T2 (348 BetA)

HS ==
1 1
2 3
3 4
4 3
5 4
6 1
7 4
8 2
9 1
10 1
11 2
12 5
13 2
14 5
15 3
16 5
17 3
18 2

AT T
HS Si=)
M1 | =ed
M2 | od mr &, g2jHQ
M3 |b4g
(4-1) A: AFHAYL, B BHROY, C Al
M4 (4-2) (N L ooz, A4 AFY 49 44
S 2717F AA (AAA BHEHUR) of atE]
NSl
(5-1) 7D, (W) 2% @& =2 Azgd. oAM= E
o] oA dZoz olEst, (W)olAe =40l
M5 | A dgog Fo] o]Fsitt
(5-2) (W) €50l o "W =2 Zoltt. 340 UFE
o F2 A Awshr] giFolth
g LolA BSHAIZD A9l ARFS A, IAF30A A
=9 A9 MEFS Xt 5tH, A= 40 + X o]t
M6 | 2Py 49 godlo] AEFO] 3ujE dol2W ZLIP
Ej7F El9jom @ 40+3X = 1600]}. whahba] X=40g
o]1, A+ 80golH.




